
Tuotenumero Kuvaus Hylly Kpl
2101381000 GD-1 D Cr6f, Cover plate 12a1 48
2101382000 GD-2 D Cr6f, Cover plate 12a1 147
2101383000 GD-3 D Cr6f, Cover plate 12a1 55
2101384000 GD-4 D Cr6f, Cover plate 12a1 105
2101385000 GD-5 D Cr6f, Cover plate 12a1 6
2101502000 SI-2-5 D Cr6f, Safety plate 12a1 100
2101531000 SIG-1a Cr6f, Safety plate 12a1 194
2101534000 SIG-4 Cr6f, Safety plate 12a1 62
2101535000 SIG-5 Cr6f, Safety plate 12a1 23
2101621200 SP-1 D, Weld plate 12a1 50
2101622200 SP-2 D, Weld plate 12a1 46
2101623200 SP-3 D, Weld plate 12a1 12
2101624200 SP-4 D, Weld plate 12a1 109
2101625200 SP-5 D, Weld plate 12a1
2101631000 SPV-1a Zn, Weld plate, long 12a1 5
2101634000 SPV-4 Zn, Weld plate, long 12a1 1
2101682000 TS 14-1m, Mounting rail 12a1
2101682200 TS 14-2m, Mounting rail 12a1 2
2101684200 TS 30-2m, Mounting rail 12a1 4
2102380000 GD-1 D 316, Cover plate 12a1 57
2102382000 GD-2 D 316, Cover plate 12a1 50
2102532000 SIG-2 316, Safety plate 12a1 149
2102533000 SIG-3 316, Safety plate 12a1 8
2102534000 SIG-4 316, Safety plate 12a1 48
2102631000 SP-1 D 316, Weld plate 12a1 53
2102632000 SP-2 D 316, Weld plate 12a1 50
2104450000 GMV-10 316, Rail nut 12a1 29
2104653000 SPAL-3 S 316, Weld plate 12a1 20
2703043130 M12/13 DIN 125-A4, Washer 12a1 112
FIF2102685000 TS 14-2m 316, Mounting rail 12a1 3
FIF2199029420 MGR336-125, Clamp 115-125 12a1 2
FIF2199029430 MGR336-150, Clamp 140-150 12a1 2
FIF2199029450 MGR336-170, Clamp 155-170 12a1 2
FIF2199029500 MGR336-300, Clamp 287-302 12a1 4
FIF2199029550 MGR336-430, Clamp 417-432 12a1 3
2102290100 DP-1 316, Cover plate 12a2 20
2102291000 DP-1a 316, Cover plate 12a2 86
2102292000 DP-2 316, Cover plate 12a2 44
2102293000 DP-3 316, Cover plate 12a2 92
2102294000 DP-4 316, Cover plate 12a2 196
2102295000 DP-5 316, Cover plate 12a2 30
2102296000 DP-6 316, Cover plate 12a2 14
2102620100 SP-1a 316, Weld plate 12a2 132
2102621000 SP-1 316, Weld plate 12a2 125
2102622000 SP-2 316, Weld plate 12a2 25



2102623000 SP-3 316, Weld plate 12a2 15
2102624000 SP-4 316, Weld plate 12a2 35
2102626000 SP-6 316, Weld plate 12a2 51
2101202000 AF-2, Stacking bolt (M6X25) 12a3 73
2101203000 AF-3, Stacking bolt (M6X30) 12a3 113
2101204000 AF-4, Stacking bolt (M6X35) 12a3 51
2101205000 AF-5, Stacking bolt (M6X50) 12a3 147
2101206000 AF-6, Stacking bolt (M6X60) 12a3 30
2101230000 AS-1/1a, Hexagon bolt (M6X30) 12a3 525
2101231000 AS-2/1 D, Hexagon bolt (M6X35) 12a3 78
2101231200 AS-2 D, Hexagon bolt (M8X35) 12a3 3
2101232000 AS-3, Hexagon bolt (M6X40) 12a3 1 098,00
2101233000 AS-4, Hexagon bolt (M6X45) 12a3 291
2101234000 AS-5, Hexagon bolt (M6X60) 12a3 542
2101235000 AS-6, Hexagon bolt (M6X70) 12a3 31
2101236000 AS-7, Hexagon bolt (M6X100) 12a3 82
2101410000 IS-1/1a, Socket cap screw (M6X20) 12a3 838
2101412000 IS-2, Socket cap screw (M6X25) 12a3 1 418,00
2101413000 IS-3, Socket cap screw (M6X30) 12a3 3 149,00
2101414000 IS-4, Socket cap screw (M6X35) 12a3 916
2101415000 IS-5, Socket cap screw (M6X50) 12a3 946
2101416000 IS-6, Socket cap screw (M6X60) 12a3 958
2102202000 AF-2 316, Stacking bolt (M6X25) 12a3 117
2102203000 AF-3 316, Stacking bolt (M6X30) 12a3 90
2102204000 AF-4 316, Stacking bolt (M6X35) 12a3 50
2102231000 AS-1/1a 316, Hexagon bolt (M6X30) 12a3 509
2102232000 AS-2 316, Hexagon bolt (M6X35) 12a3 2 878,00
2102233000 AS-3 316, Hexagon bolt (M6X40) 12a3 690
2102234000 AS-4 316, Hexagon bolt (M6X45) 12a3 698
2102235000 AS-5 316, Hexagon bolt (M6X60) 12a3 175
2102591000 SM 316, Rail nut 12a3 97
2104254000 AS-4 S 316, Hexagon bolt (M10X60) 12a3 52
2104255000 AS-5 S 316, Hexagon bolt (M10X70) 12a3 107
FIF2109610000 ZR 518, Cylinder clamp, black 12a3 273
FIF2201707500 SN 38X5, Welding nipple 12a3 2


